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s 3,870,926
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OS8s oo g dA2EH K&
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SA - ZE . BR() - HRAR - BES of v G o HIDE2
< 17,329
Al 51,987
11 AMEISXAEEES 69,316 69,316 0
=dAl Lolg 28 243 N
69,316,000 * 100 2 69,316
= 17,329
Al 51,987
HEdl SARA gt 226X X2 1,020,000 1,026,400 26,400
201 fer=3| 20,000 26,400 6,400
01 AlR22IH| 20,000 26,400 28,400
OOl24l ABLISH IE ME 248
200&*10,000& 10 20,000
301 EtE NS 1,000,000 1,000,000 0
02 ARSI 2EH 2GS (FHAAS, NLWE) 1,000,000 0 1,000,000
Ozdl AZH2*x XI&H
10,0002/ %10,0002 %102 1,000,000
=350l o2 =2Y 522,000 628,600 106,600
301 eEetE2 N = 522,000 628,600 106,600
02 NBI2HHSFS(HAAS, NLHE) 522,000 0 522,000
O==380| o248 g4l X
43,500,000 «12& 522,000
COIMEAIE X3 AMY 5,618,7% 3,833,623 1,785,171
== 1,685,732
Al 3,933,062
301 LEtE NS 5,600,000 3,814,829 1,785,171
= 1,680,000
Al 3,920,000
02 A2 A6 (FHAAHS, NSWE) 5,600,000 0 5,600,000
COIMEAL (B0 FIQY
NAHEES) 228 A
1,400,000, 000& *42] 5,600,000
=S 1,680,000
Al 3,920,000
307 212+01& 18,7% 18,794 0
< 5,732
Al 13,062
11 AMEISXAEEE 18,794 18,794 0
LOISXAIE 288l & EAHRAH
35,0002 %38 1,330
= 532
Al 798
OLI=XAIE 2tAH|
4,366,000 *42] 17,464
< 5,200
Al 12,264
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IS XIAIE X3 ALY 5,440,000 4,623,404 816,596
= 1,280,000
Al 4,160,000
301 EtE N = 5,440,000 4,324,804 1,115,1%
= 1,280,000
Al 4,160,000
02 AR 2HHSFS(HAAS, XNLHE) 5,440,000 0 5,440,000
OMIH-ISIIAE 2SH(ASS0 =3 At
|2 NXHSLS)
1,360,000,000& *42] 5,440,000
== 1,280,000
Al 4,160,000
LZAIE 2 N2 (HEAY) 929,841 926,557 3,284
= 705,676
Al 224,165
301 EtE N = 929,841 926,557 3,264
= 705,676
Al 224,165
02 MR 2HHLFS(HAAS, XLHE) 929,841 0 929,841
O2ZAlZ(0Z0r2) 224 X
929,841,000& *10H 2~ 929,841
s 705,676
Al 224,165
COISXAIE SAA S22 T& At 441,600 395,760 45,840
== 132,480
Al 309,120
307 elztol & 441,600 395,760 45,840
= 132,480
Al 309,120
11 AMEISXAIEEXS 441,600 395,760 45,840
OLQQTAIE SAHA SE4E
50,0002 x700E 122 420,000
=S 126,000
Al 294,000
OLZAIE SAHA SESE 21,600
— QYDA 120,000 0~ 122 12,960
= 3,888
Al 9,072
— 2SS AL 90,0002 x8E * 12 8,640
=S 2,592
Al 6,048
V2T |2 SIAE &3 X 7,160 40,096 N32,936
= 3,580
=S 1,790
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Al 1,790
307 gl2tol & 7,160 40,096 A32,936
= 3,580
= 1,790
Al 1,790
11 AMEISXAIEEXS 7,160 40,096 A32,936
OZIII|2t EIIAL LXK
447,500 16K 7,160
= 3,580
= 1,790
Al 1,790
20208 LRIQAANE BHEOISEL) A 20,000 276,410 N256,410
[ 10,000
= 5,000
Al 5,000
402 2IF X201 & 20,000 194,050 A174,050
= 10,000
[ 5,000
Al 5,000
02 QI T2 AL EE (01X THE) 20,000 194,050 174,050
02025 LoIRUAS HE(IIS2L)AL
20,000,000 * 100 2 20,000
= 10,000
< 5,000
Al 5,000
J=gis K& 143,133,231 134,062,570 9,070,661
= 114,507,785
< 5,725,089
Al 22,900,357
301 2eEN= 143,133,231 134,062,570 9,070,661
= 114,507,785
=S 5,725,089
Al 22,900,357
01 Al EE AL S(FREXMH) 143,133,231 134,062,570 9,070,661
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= 5,725,089
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< 1,740
Al 4,060
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Al 4,060
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Il 138,188
Al 322,437
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OFzAY 2224 X
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= 30,938
Al 92,812
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= 30,938
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3l=sX2 2 hA)
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=S 30,938
Al 92,812
ERRESSAA QRIS 23Hl X 15,000 10,000 5,000
307 elztol & 15,000 10,000 5,000
05 2IZtAE = 15,000 10,000 5,000
OxZIRIAL 29
15,000,000 * 100 2~ 15,000
Corgtel & AelgskE =i 16,647,096 16,489,048 1,188,048
= 8,323,548
S 2,497,064
Al 5,826,484
201 er23 | 24,000 24,000 0
= 12,000
< 3,600
Al 8,400
01 At2t2lt] 24,000 24,000 0
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Ol Xiel A =8|
6,000,000& x4= | 24,000
= 12,000
[ 3,600
Al 8,400
202 04l 1,000 1,000 0
= 500
& 150
Al 350
01 SLHoIH 1,000 1,000 0
OoledXie|Atd H2 =& 0|
100,000+ 102 1,000
= 500
S 150
Al 350
301 EtE NS 16,620,596 16,462,548 1,158,048
= 8,310,298
== 2,493,089
Al 5,817,209
01 AR 2EHSHS(RNEXRTH) 16,620,596 15,462,548 1,158,048
OLOIUTIIAIY EEH]
1,662,059,600& 102 16,620,596
= 8,310,298
== 2,493,089
Al 5,817,209
405 AHaHE S 1,500 1,500 0
= 750
== 225
Al 525
01 Tt 2SS F=HI 1,500 1,500 0
O LNCIAY =& 28 2578
750,000& 22 1,500
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s 225
Al 525
AlLIOIZ2E 2gXE 369,980 346,710 13,270
& 107,994
Al 251,986
307 glztol & 369,980 346,710 13,270
= 107,994
Al 251,986
10 Al SXAAEEHE 22X 363,500 340,230 13,270
OAILIGIZ2E 28X&
176,750,000 <22 363,500
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= 1,944
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01 AtR2t2lt] 20,364 24,650 N4,286
OsHsS SE=Nz2 28
1,765, 7143 +7 0l 24 12,360
O=2USAAIE YA 2o+g
100,000 +3& 300
OZQISTAL &5 22 27 24
9,000& x4 +7Lx 123 3,024
OSHSSE=SA2 RABHAABES
130,000& x 12 *3H 2= 4,680
2 s5=34l 32,716 36,672 A3,956
OsHs =Nz & SAAIE FA]
4,600,857 *7H 2= 32,206
O=& it&g gl =Al8l & A234|
60,0003 +6E 360
O38 itg A=l 25,0003 +6E 150
202 04l 960 1,200 A240
01 =LHA LI 960 1,200 A240
OFUSAAIE gL 2AEF 0|
60,0002 x4 4 960
401 Al HIZ R 0HHI 1,240,000 387,393 852,607
01 AlZ28| 1,240,000 387,393 862,607
OF2U=SXAIE AIE=X8]
5,000,000 7 2= 35,000
OZ=g (&)= 1,205,000
—ZZ2Y AE SAI
390,000,000 *3JH 2 1,170,000
—d2d &F 2HEY
35,000,000 *1IH 2 35,000
402 BIZtAH=01A 230,000 200,000 30,000
01 QI X2 AL E A (KHHITHE) 230,000 200,000 30,000
OFB=IIAE HE+
5,000, 000& 4601 2 230,000
SEeldl 28 SA 2,613,600 5,000,000 A\2,386,400
= 2,090,880
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401 Al HIZL 01| 2,613,600 5,000,000 2,386,400
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=S 30,000
Al 98,345
101 ©1AH| 28,345 24,564 3,781
04 JIZtN2Z2 XS 2=+ 28,345 24,564 3,781
g2 S5=2d 2 224 N 12,491
—JlEs 10,0302 *1&*7 Al 2tx160 11,234
—=gle= 11,230,000& *4. 5% 506
—dLEE 11,230,000 %3.545% 399
—1I=E2E 11,230,000 *1.75% 197
— & HEE 11,230,000 *0. 962% 109
-3y 355,000 *12.81% 46
OB BESSF 29 212 XL 15,854
—Jl2a
10,0302+ 100 2 +7 Al 264203 14,253
—=0l= 14,250,000 4. 5% 642
—2ZEE 14,250,000 *3.545% 506
—1EEE 14,250,0002 *1.75% 250
—&HEE 14,250, 0002 *0.962% 138
- 500,000 %12.81% 65
201 Ler23 | 40,000 60,000 /20,000
S 12,000
Al 28,000
01 At2teltl 2,000 2,000 0
O35 (Y, tiE)s=E A2l A
1,000,000 #2042 2,000
= 600
Al 1,400
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& 18,304
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OSAUABIAAY 22| B
385,000+ 122 4,620
OdJl, A8, 52| ete2e| 89
639,250 * 12 7,671
O&F=D| Xz 210,000& * 122 2,520
o= 224 4|
9,000 x2*32 12 648
OSAEI S AIREZ 7¥
100,000 43 400
Ost&4 dHidl gxtz
17,0003 »12CH* 123 2,448
OFRAY ADE 7Y
110,000 43 440
OF2E= 7 43,0003 *12] 43
02 S3=gHl 45,336 50,819 N5,483
Osg=A2 8=
2,900,000& 10 29,000
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